


® Thoughts

r



echanisms that

cause

®* How to weigh the “big picture” verses the “fine detail”?
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® Utilizes *

r






Produces 720 futu

( Additionally, 1120 historical traces = 409,000 days of information
O



LET’S LOOK AT 1 TRACE

1 GCM, 1 Demand population, 1 years (1 trace of the total 720 future traces)
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LET’S LOOK AT A FEW MORE

5 GCMs,

1 Demand population, 10 years (50 traces of the total 720 future traces)
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HOW ABOU ’ROACH?

Summarize by minimum storage

Can now see something of a trend
to the statistic, that’s useful!
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What'’s up with this one?

2030 2035 2040 2045 2050
Year

® (CanESM23) ® (CNRM.CM53) @ (CSIROMK3503) ® (GFDLESM2M3) @ (HadGEM2-ES365.3)




Live demo of application!



https://benjaminbeal.shinyapps.io/betaapp/

® Entire code-base

r






irios” and years

® Results m

r



Light extinction coefficient (tested 2 values)
Mixing parameters (tested 10 combinations)
Wind sheltering (tested 15 values)

Intake tower partitioning (tested 33 combinations)
Solar radiation corrections (tested 8 factors)
Alternative SR datasets (tested 8 alternatives)




4000 traces

r



Live demo of application!



https://benjaminbeal.shinyapps.io/coldbiasapp_v2/

® Generating sce
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